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HONEEIEEE (Ba/kg)
maE | AR e A N R
T PETD SR 131 | PRy ) A-134 | UK PRy A-137 | O PEISE-131 | B ity na-134 | Sty a-137
(510[A]) 10 424 H [#H9 (<3) 18 25 — — —
(%513[A]) LA TH [T (<3) 16 17 — — —
(521[a]) 3426, 27H — — HRHEY (<4) 54 72
(% 9I=]) 10H17H — — 97 (<5) 5 10
S (3510[m]) 10/ 24H — — B9 (<3) 5 12
Faki CARE)) 1A7H = = FRHAE (< 3) 59 37
(3518[m]) 12519, 20H — — B (<4) 36 49
(519[m1) 1A30,310 — — B (<4) 28 39
(%520[a]) 2527, 28 A — — B9 (<5) 96 130
(F521[) 3H 26, 27H — — R (<3) 8 10
(%5 9[ml) 10 17 B B9 (<4) 34 45 — — —
(510[A]) 10 424 H |[FH9 (<3) 41 54 — — —
(521[a]) 3526, 278 [BRHET (<) 21 26 — — —
S0y (5 9I=]) 104 17H — — g (<4) 9 7
(510[m]) 10247 — — B3 (<3) 8 8
(513[H]) 11H7H — — g (<4) 8 10
(3518[m]) 12519, 20 — — B9 (<3) 6 11
(3519[]) 1A30,31H — — B9 (<3) 7 12
(35 7081) 104 12 A B9 (<4) 41 60 — — —
(510[a]) 10 424 H [ (<4) 71 92K (< 4) 37 51
(%5 7)) 10 12H — — B (<7) 120 140
(%513[A]) LA TH [BEET(<4) 45 54| HE9 (< 4) 62 78
VAT (3518[m]) 12519, 20 — — B (<4) 55 71
(#519[m]) 1H30,31H — — 9" (<5) 110 140
(%520[a]) 2527, 28 A — — B9 (<4) 72 97
(F521[) 3426, 27H — — HRHEY (<5) 62 91
(5521[m) 3426, 27H — — HRHEY (<5) 40 63
(35 7[81) 104 12 H B9 (<4) 39 42 — — —
(510[A]) 10 424 H B9 (<4) 22 24 — — —
(521[a]) 3526, 27 A [BH+ES (<5) 22 28 — — —
(% 7[m]) 10H12H — — 9" (<5) 28 31
(510[A]) 10247 — — B3 (<3) 7 9
O =N € ) 170 - - BT (<3) i1 6
i (#518[m]) 12H19,20H — — FHAES (<2) B9 (<3) [MHE3(<3)
(#519[m]) 1H30,31H — — FHAES (<2) [BHEd (<3) w3 (<3)
(#20[0]) 227,280 — — R (<3) [Ftad (<5) 6
(%21[0]) 326, 27H — — g (<3) |BE (<4) 5
(%21[8]) 326, 27H — — T g (<3) B (<3) 6
(5 1=)) 4H20H B3 30 - - -
(510[m]) 10 H 24 H B9 (<2) 11 13 — — —
(%513[a]) LA TH [BHEE(<3) BB (<4) 8 — — —
(3518[m]) 1219, 20 A [Br 49 (< 3) 8 14 — — —
(% 1m) 47 20H — = e e
(5 2[=]) 5H11H — — e 8
WhERET | (5 3[E) 7J123,26H — = e e
(% 5Mm) 10/16F — = e e
(510[m]) 107241 — — R (<3) |3 (<3) [Biied(<a)
(513[H]) 11H7H — — " (<3) 9 6
(#518[m]) 12H19,20H — — FHAES (<3) [BEd (<4) [ (<4)
(3519[m1) 1A30,310 — — B9 (<2) 3 4
(3520[a]) 227,28 A — — B (<3) 4 4
(%5 6[ml) 10 A 11 H B9 (<6) 110 150 |t (<5) 38 43
(510[A]) 10 424 H |9 (<4) 65 88 [ it (< 4) 35 43
I LT (%513m) LLATH [T (<5) 77 97 [ (<3) 31 35
(5521[) 3H 26, 27 A [ (<5) 93 120 — — —
(5521[m) 3H 26, 27 A [ (<5) 55 85 — — —
(%5 6[ml) 104 11 H B9 (<5) 130 160 — — —
(510[A]) 10 A 24 H |[#HH9° (<5) 140 150 — — —
(%513[A]) LA TH [BREET(<4) 72 91 — — —
(521[a]) 3H 26, 27 A [ (<6) 120 160 [ 9 (<4) 57 81
o [€ =) 1011H — — B (<4) 35 43
(3510[m]) 10/ 24H — — B9 (<4) 43 59
(513[m]) 1H7H — — B9 (<4) 38 52
(%520[a]) 2527, 28 A — — B (<4) 80 110
(5521[) 3H 26, 27 A [ (<5) 110 140 — — —
(5211A]) 326, 27H — — RS (<4) [T (<4) [T (<5)




HONEEIEEE (Ba/kg)

maE | AR IR A A N R
T PETD SR 131 | HR LY A-134 | UK PRy A-137 | O PEIDSE-131 | B PEtyna-134 | Sty na-137
(#10[m]) 10H 24 B |MHw9 (<4) 88 110 — — —
KT (%513[A]) 11H7H [ (<5) 82 98 — — —
(5 17[A]) 12H 50 [BtEd (<6) 200 240 — — —
(5521[m) 3H26, 27 A [ (<4) 70 96 — — —
(% 6[n]) 1011 B |9 (<5) 120 140 [ i3 (<5) 130 160
(510[A]) 10247 — — B3 (<4) 5 5
(5 13[a]) 11H7H — — B3 (< 10) 510 620
PIRAT (%5 15Mm]) 11 15 B |3 (<3) [Bied(<4) 6 — — —
(%513[A]) 11H7A (B89 (<5) 110 130 — — —
(%516[0]) 111218 [Bed (<4) 91 110 — — —
(%520[0]) 227,280 — — T (<4) [t (<4) 9
(%5 6[ml) 10H 11 H B3 (<9) 400 490 — — —
(%5 9[ml) 10H 17 H B3 (<6) 220 250 — — —
(F510[A]) 10 H 24 F B3 (<6) 170 200 — — —
(F12[A]) 11H 1A (B8 (<6) 210 270 — — —
(%515[0]) 1115 B |7 (<6) 170 210 — — —
(%5 9ln)) 1017 B |9 (<3) 12 19 — — —
NEET (%5 9[mn]) 10717 B |Mwd (<4) 71 85 — — —
(#10[m]) 10H 24 B |Bw9 (<4) 110 130 — — —
(% 12[A]) 11H 1A [R5 (<6) 140 170 — — —
(510[A]) 10 H 24 F |[#HiE 3 (<5) 71 84 — — —
(F12[A]) L1H LA [BRHET(<T7) 230 290 — — —
(#515[0]) 11715 B M7 (<4) 60 78 — — —
(#16[0]) 111218 M9 (<5) 120 140 — — —
(5518[H]) 12119, 20 A [ 37 (<4) 100 130 — — —
(35 4[A1) 10H4H — = e 990
S (% 7[m]) 10H12H — — 7 (<3) 3 9
(514[m]) 11H8H — — B3 (<2) 7 7
(%518[m]) 12H19,20H — — g (<2) 5 11
(35 7[81) 104 12 A |[FH9 (<8) 380 450 = — —
(F12[A]) 11H 1A [ (<6) 290 360 — — —
(%515[]) 114158 |[#r4(<8) 370 460 — — —
(F12[A]) 11H 1A [T (<4) 27 28 — — —
(%518[m]) 12119, 20 A [ B9 (<4) 18 25 — — —
(F12[A]) 11H 1A (B8 (<5) 120 150 — — —
(5 16[]) 11H 21 H B3 (<) 77 100 — — —
FEoA T (% 1[ED) 4120H — — M3 M
L (%5 2[A) 5H11H — = e 22
fzif (5 3la)) 7523, 26H — - B 8
(%5 5[Al) 10H6H — = e 7
(35 7[81) 107121 — — R (<3) |3 (<3) [Biied°(<3)
(%11[mA]) 10H25H — — FHA (<2) [BEd (<3) w3 (<3)
(F514[m]) 11H8H — — g (<2) |3 (<3) |3 (<3)
(%518[m]) 12H19,20H — — B (<3) [BEd (<4) [ (<4)
(% 5[H]) 10H6H — — e 6
(35 7081) 107121 — — B (<3) [BE3(<4) 7
ket (F11[A]) 1025 — — B (<3) |3 (<4) [Biied(<a)
(%514[m]) 11H8H — = MHIHE3(<2) S|HHIE (<3)
(#518[m]) 12H19,20H — — 7 (<3) 5 9
(%520[a]) 2727, 28 H — — B3 (<3) 19 27
(%11[mA]) 10 25 B M9 (<4) 37 55| HiE9" (<6) 120 170
(3521[) 3H26, 27 H [#HE3 (<5) 97 140 = = =
(% 6[n]) 10H11H — — B9 (<3) 4 4
A (514[m]) 11H8H — — B3 (<4) 14 26
(F521[) 3H26, 27 H [#HE3 (<5) 110 140 = = =
(5521[m) 3426, 27H = = = R (<3) 16 23
(5521[) 3426, 27H = = = S (<5) 50 71
(%5 3[m) 7H23,26H — = e 260
I —. € =) 10H4H [T 380 — — —
(#11[mA]) 10H25H — — R HIHE 3 (<5) 76 97
(F521[) 3426, 27H = = = S (<5) 110 160
(%5 6[ml) 10H11H — — FRHIAE3(<7) 230 280
(% 9[m]) 10H17H — — ™ (<7) 200 260
(#11[mA]) 10H25H — — 7 (<6) 160 190
(%512[0]) 11H1H — — M3 (<4) 83 97
(35 1[8]) 4H20H 3 50 — — —
(% 9[n]) 10H17H — — " (<5) 90 120
- (%11[mA]) 10H25H — — T 7 (<6) 200 250
(F12[A]) L1H LA R8T (<T7) 220 260 [ HH9* (<5) 150 190
(#515[0]) 11715 B M9 (<6) 160 180 — — —
(5 16[]) 11H 21 H [#HiE 3 (<5) 140 180 — — —
(% 9[n]) 10H17H — — 9" (<5) 140 170
(%11[mA]) 10H25H — — T 7 (<6) 160 190
(#12[m]) 11H1A — = T (<6) 130 160
(%514[m0]) 11H8H — — 9" (<5) 140 170




JHEERE (Ba/kg)

maE | AR IR A A N A
T PETD SR 131 | HR LY A-134 | UK PRy A-137 | O PEIDSE-131 | B PEtyna-134 | Sty na-137
(%5 8[ml) 107141 — — — B (<2) |9 (<3) |3 (<3)
(511[m]) 10250 — — — B9 (<2) 3 5
Lk (55141=]) 11H8H — — — 7 (<3) 7 7
(#518[m]) 12H19,20H — — — MHAES (<4) [BEEd (<4) [BHE3(<5)
(#519[m]) 1H30,31H — — — FHAS (<3) B9 (<4) [BHE3(<5)
(%520[0]) 25 27,28H — — — HHAS (<5) B9 (<5) [MHH3(<6)
(%5 8[ml) 104 14 H |9 (<6) 220 270 — — —
I ELT (F514[m]) 11H8H [BRHEd (<9) 280 330 — — —
(%515[m]) 11H 15[ |[#H9 (<5) 110 130 — — —
(5 16[]) 11421 B |[#HE (<5) 120 140 — — —
(5 1=)) 41H20H — — — e 7
(3 2[AD) 5H11H — — — e 6
(%5 3[m) 7H23,26H — = — BT 4
(% 5Mm) 10/16F — = — 3k e
2 IEH (3 11[E]) 104 25H — — — MHIHE T (<3) |[REd° (<5) 8
(F514[m]) 11H8H — — — R (<4) |3 (<5) [Biied(<5)
(3518[m]) 12519, 20H — — — B9 (<3) 8 11
(519[m1) 1A30,31H — — — B9 (<3) 7 14
(%520[a]) 2527, 28 A — — — B (<4) 16 28
et (511[m1) 1025 — — — B (<7) 210 270
(3514[]) 11}8H — — — B (<7) 190 230
(F514[m]) 11H8H [BHHd (<4) 81 110 — — —
(3518[a]) 12419, 20 A [ w3 (<5) 92 120 — — —
(%5 8[H]) 104 14H — — — 9 (<3) 8 12
PR |t (1T 107125 H - - R AT (<) (R D R (S5
3 (%514[0]) 11H8H — — — RHIHE 3 (<3) 14 15
(%518[m]) 12519, 20 — — — B9 (<3) 5 5
(%519[m]) 1H30,31H R (<3) [t (<4) 4
(% 8[m]) 10H14H — — — 7 (<3) 24 31
(F11[A]) 1025 — — — MRS (<3) [BiE 3 (<3) 3
(3514[1) 11H8H — — — B9 (<3) 29 35
BT (3518[m]) 1219, 20H — — — B (<4) 31 39
(519[m1) 1A30,31H — — — BHE9 (<5) 44 59
(%520[a]) 2527, 28 A — — — B9 (<3) 29 35
(F521[) 3H 26, 27H = = = M (<4) 20 26
(%5 9[ml) 10 17 B |9 (<3) 14 13 — — —
s (F11[A]) 10 425 H |[#Ht9° (<3) 17 17 — — —
(F514[m]) 11H8H [BHHEd(<3) 16 25 — — —
(3518[m]) 12419, 20 A [ 3 (<4) 17 28 — — —
(% 1m0 4H20H 20 48 e i
(5 2[=]) 5H11H — — — e 8
(%5 3[m) 7H23,26H — = — e 3
(% 5Mm) 10/16F — = — i e
(F11[A]) 10H25H — — — B (<3) |3 (<4) [Biied(<a)
ran (%5 14Mm) 11/18A — — — B (<4) [BRHE (<6) 9
(3518[m]) 12519, 20 — — — B (<4) 13 25
(519[m1) 1A30,31H — — — B9 (<4) 27 38
(#20[m]) 227,280 — — — MHAES (<4) [BE9 (<5) [MHE3(<6)
(521[a) 3H 26, 27H = = = B (<3) [ B3 (<4) | Bt (<5)
(5521[m) 3H 26, 27H = = = M (<4) 18 28
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FORPEIEE-131 | HoR Pty A-134 | o bEtyya-137
o CAlE)! 326,270 | #HE(<5) 37 53
KT
(F10E0) 326,278 | HHEF(<4) a7 63
T (B 1[E]) 3526, 27 A | MHET(<4) 28 42
W BN H BT | (FEllaE]) 326,278 | BT (<6) 150 200
X7 a| il (B 11E]) 326,27 H | BHEF(<T) 130 190
Fu] BT (F10E0) 326,27 B | B (<5) 70 86
i (1A 3H 26, 27H | M3 (<5) 71 110
BINTH (F10E0) 326,278 | HHEF(<8) 310 420
BT (Z11a0) 3H26, 27 H | #HE$(<3) 12 16




